#### Renfrewshire Council

#### **Transfers Report**

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 8 - Johnstone South and Elderslie

5,563

4

1,113

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jacqueline CAMERON	Scottish National Party (SNP)	1,613
John HOOD	Scottish Labour Party	1,310
Brian JACKSON	Scottish Conservative and Unionist	595
Robert MACINTYRE	Scottish Liberal Democrats	141
lain MCMILLAN	Scottish Labour Party	1,270
Andy STEEL	Scottish National Party (SNP)	634
	Total	5,563

Candidate Jacqueline CAMERON Elected with 1,613 votes, being in excess of the quota of 1,113 Candidate John HOOD Elected with 1,310 votes, being in excess of the quota of 1,113 Candidate Iain MCMILLAN Elected with 1,270 votes, being in excess of the quota of 1,113

## Transfers Report

This report contains the transfers results.

# Stage 2 - Surplus of Jacqueline CAMERON

500.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian JACKSON	15	0.30998	4.64970
Transfer to Robert MACINTYRE	35	0.30998	10.84930
Transfer to Andy STEEL	1,431	0.30998	443.58138
No further preference	132	0.30998	40.91736
Not transferred due to rounding			0.00226
	Total		500.00000

## Transfers Report

This report contains the transfers results.

# Stage 3 - Surplus of John HOOD

197.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian JACKSON	243	0.15038	36.54234
Transfer to Robert MACINTYRE	258	0.15038	38.79804
Transfer to Andy STEEL	183	0.15038	27.51954
No further preference Not transferred due to rounding	626	0.15038	94.13788 0.00220
	Total		197.00000

## Transfers Report

This report contains the transfers results.

# Stage 4 - Surplus of Iain MCMILLAN

157.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Brian JACKSON	220	0.12362	27.19640
Transfer to Robert MACINTYRE	219	0.12362	27.07278
Transfer to Andy STEEL	200	0.12362	24.72400
No further preference	631	0.12362	78.00422
Not transferred due to rounding			0.00260
	Total		157.00000